

$$f(n) = \frac{n^2 + 2n + 5}{n^2 + 2n + 7} = \frac{(n+2)^2 + 1}{(n+2)^2 + 3}$$

$$f(\sqrt{3} - 2) = \frac{(\sqrt{3} - 2 + 2)^2 + 1}{(\sqrt{3} - 2 + 2)^2 + 3} = \frac{(\sqrt{3})^2 + 1}{(\sqrt{3})^2 + 3} = \frac{3+1}{3+3} = \frac{4}{6} = \frac{2}{3}$$

$$f\left(n - \frac{1}{n}\right) = \frac{n^4 + 1}{n^2} = \frac{n^4}{n^2} + \frac{1}{n^2} = n^2 + \frac{1}{n^2} = \left(n - \frac{1}{n}\right)^2 + 2$$

چون در واقع ما ۳- را برابر با $n - \frac{1}{n}$ قرار می دهیم:

$$f(-3) = (-3)^2 + 2 = 9 + 2 = 11$$

$$g(n) = \sqrt{9 - n^2} \rightarrow 9 - n^2 \geq 0 \Rightarrow 9 \geq n^2 \Rightarrow n = [-3, 3]$$

$$D_f \cap D_g = \{0, 1, 2\}$$

$$\text{الف) } \frac{f}{g} = \left\{ \left(2, \frac{0}{\sqrt{5}}\right), \left(1, \frac{-4}{\sqrt{18}}\right), \left(0, \frac{2}{3}\right) \right\} = \left\{ (2, 0), (1, -\sqrt{2}), \left(0, \frac{2}{3}\right) \right\}$$

$$\text{ب) } \frac{g}{f} = \left\{ \left(2, \frac{\sqrt{5}}{0}\right), \left(1, \frac{\sqrt{18}}{-4}\right), \left(0, \frac{3}{2}\right) \right\} \Rightarrow \left\{ \left(1, \frac{1}{-\sqrt{2}}\right), \left(0, \frac{3}{2}\right) \right\}$$

$$\text{الف) } 2 \cdot f(n) = \{(2, 2), (3, 8), (-5, 4), (1, -4)\}$$

$$\text{ب) } f(n) + 1 = \{(2, 2), (3, 5), (-5, 3), (1, -1)\}$$

$$\text{ج) } 3f^2(n) + 1 = \{(2, 4), (3, 49), (-5, 13), (1, 13)\}$$

$$\text{د) } f(2n) = \left\{ \left(1, 1\right), \left(\frac{3}{2}, 4\right), \left(\frac{-5}{2}, 2\right), \left(\frac{1}{2}, -2\right) \right\}$$

$$D_f \cap D_g = \{1, 2, 3\}$$

$$\text{الف) } f - g = \{(1, 4), (2, 2), (3, 2)\}$$

$$\text{ب) } \frac{2f}{g} = \left\{ \left(1, \frac{2}{0}\right), \left(2, \frac{4}{1}\right), \left(3, \frac{2}{-1}\right) \right\} \Rightarrow \{(2, 4), (3, -2)\}$$